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PART-II : SCHOLASTIC APTITUDE TEST
(For Students of Class X)

Time : 90 Minutes
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefull
the question booklet.

Max. Marks : 90

y before you open

1. Answers are to be given on the same OMR answer sheet
provided for Part-I.

2. There are 90 questions in this test. All are compulsory.

3. The question numbers 91 to 110 belong to Mathematics,

111 to 145 pertain to Science and 146 to 180 are on Social
Science subjects.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle with
blue/Dblack ball point pen in the OMR answer sheet.

5. Since the time allotted for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question.

6. If you do not know the answer to any question, do not

waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

7. Rough work can be done anywhere in the question
booklet but not on the OMR sheet/loose paper.

8. Every correct answer will be awarded one mark.

9. Please return the OMR Answer sheet only to the

invigilator after the test. You can retain the question
Booklets.

10. English version of the question paper will be considered

as final in case of any dispute arising out of variation in
translated version.

11. Quote vour seven digit Roll number without fail for

any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING
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91. Let N be the set of natural numbers and P 91.

be the set of prime integers in N. If A=

{n/neN, n is a multiple of some prime peP},

then N—A ={n e N/ngA} is :

(1) empty set
(2) of cardinality 2

(3) a finite set of cardinality greater than
2

N

a singleton set

92. The sum of the first k natural numbers is
A, for a certain k > 1 ; the sum of their

cubes is B, then log jz B is:
1) 4 “2) 3

3 2 4 1

93. Given that P(x) and Q(x) are polynomials
of degree 3 with real coefficients, which

one of the following is not true 7.

(1) deg[P(x) xQE)]=6
®)
By deglP(x)-QE)] = 3

deg[P(x) +Q(x)] =3

@) deg[[P(x)PIQ)P | =15
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A crenug PHO k Guied 6T GHoT & GIT 601
mBs®, k > 1 Lo mi LD 16u M Hl e

samsafen FmHige B crafélog &z B =:

1) 4 (2) 3
3) 2 4) 1
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94. Suppose that a quadratic polynomial 94,

x2+bx+1,b € R, has two zeros which are
both real then which one of the following
is necessarily true ?

(1) b can have infinitely many values

(2) Db has a unique value

) b has at most two distinct values

(4) b has at most four distinct values

95. It is given that there is no solution to the 95.

system x+2y=3, ax+by=4. Which one
of the following is true ?

(1 a has a unique value
(2) b has a unique value
(3) a can have more than one value

(4) a has exactly two different values

96. The unit digit in the decimal expansion of ~ 96.

723 is :
(1) 1 (2) 3
3) 5 w7
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g7. If the sum S of three consecutive even
numbers is a perfect square between 200
and 400, then the square root of Sis:
1) 15 (2) 16
-,(8') 18 (4) 19

98. The numbers are arranged in the
descending order : 108, 94, 88, 82, x+7,
x—7, 60, 58, 42, 39. If the median is 73,
the value of x is :
(1) : 72 @ 73
(3):76 (4) 75

99. The mean of 16 numbers is 48. If each

aumber is divided by 4 and diminished by
3, then the new mean is :

12 2) 48
(3) 52 4) 9

A natural number k is chosen from the set

100.
{1, 2 8 5 100}. The probability that it is
prime, is :
e 1 1
7 @ 3
) 23
©) 100 @ 7100

b
101. If A= (: d) where a, b, ¢, d € R such

that AB=BA for each 2 x 2 matrix B, then

b2+c? :

,{6 can have any positive value
2 0
(3).- 1
4) 2
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102. If each side of a rectangle is increased by

20% then the percentage increase in its

area is :
) 40% (2)
(3) 44% 4)

103. The perimeter and area of a sector are

18 cm and 20 sq. cm respectively. Then

the length of the arc is :

(1) 10 cmor 8 cm
JZ)I 10 cm or 5 cm
(3) 10cmor 4 cm
(4) 20cm or 2 cm

104. If secO+ cos® = \/5, the value of

sec20 + cos? is -

(1) = (2)

3) 25 w4)

105. The value of

sin? 4+ 5°+sin210° + sin215° + .... + sin290°

is:

1 8 42)
3) 2 (4)

1106\ ABC is a triangle wifh vertices A(1, 2), 106.
/B(m, 2), C(1, m), then the orthocenter of

the AABC has coordinates :

24w 4+
(1) (3’ 3 )

m+1 2+ 7
(2) (2' 2)

6 0.2
w (33
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107. The circle S; has centre at (1, 2) and radius
3 ; the circle S, has centre at (9, 8) and
radius 7. The circles S; and S, touch at

the point whose coordinates are :

& (5%

LAY
(3) [10’ 10)

108. It is given that there are 6 straight lines in
a plane so that no three of them are
concurrent and no two are parallel. Then
the number of points of intersection among

the given six straight lines is :

V/a)/ 6 (@ 12
(3) 15

4) 3

109. AB is a chord of a circle S subtending an
angle of 20° at the centre. Suppose AB
has lenoth 1008 units and CD is another
chord having length 1512 units, then the
angle subtended by CD at the centre is :

(1) -40° A5 30°
3) 60° (4) 25°

110. If x =3 + /8, then x4+—14— is :
X

(1) 1056 (2) 1158
(3) 1156 (4) 1154
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